EMRS Model Test Paper 3

Q1. Identify the segment in the sentence which contains the grammatical error.
The childrens are fond of climbing the mango tree in the garden.

(a) climbing the mango tree

(b) are fond of

(c) in the garden

(d) The childrens

Q2. Select the most appropriate word to fill in the blank.
It is not of language that makes one an ineffective speaker; It is the dearth of ideas.

(a) difficulty

(b) complexity
(c) intricacy
(d) poverty

Q3. Select the most appropriate meaning of the given idiom
Late in the day

(a) too old to work

(b) too ripe to eat

(c) too dark to see anything

(d) too delayed to be of any use

Q4. Select the most appropriate option to substitute the segment in bold in the given sentence. If
there is no need to substitute it, select No improvement.

If I does not pay my post-paid mobile bill by tomorrow I will probably have to pay a fine.

(a) If I had not paid

(b) No improvement

(c) If I has not paid

(d) If I do not pay

Q5. Select the correct passive form of the given sentence.

They will not allow mobile phones in the examination hall.

(a) Mobile phones were not allowed in the examination hall.

(b) Mobile phones are not being allowed in the examination hall.
(c) Mobile phones will not be allowed in the examination hall.
(d) Mobile phones are not allowed in the examination hall.
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Q6. Given below are four jumbled sentences. Out of the given options pick the one that gives their
correct order.

A. But now that his father had asked him to fetch some cheroots, he would have to pass by the high
school to reach the shop.

B. The teachers and students would all be there, and he was ashamed of being seen outdoors.

C. Of late Krishna had confined himself to the four walls of the house.

D. Wondering how to get past the school unnoticed, he slowly ventured out.

(a) CBDA

(b) ACBD

(c) CABD

(d) DACB

Q7. Select the most appropriate antonym of the given word.
CHRONIC

(a) routine

(b) regular

(c) infrequent

(d) continuing

Q8. Select the most appropriate meaning of the given idiom
Draw a blank

(a) be unsuccessful

(b) be happy about something

(c) be unable to sketch

(d) be lucky in a game

Q9. Identify the segment in the sentence which contains the grammatical error.

The two states frequently has differences over the use of the river water especially during the
summer months.

(a) over the use of the river water

(b) The two states frequently

(c) has differences

(d) especially during the summer months

Q10. Given below are four jumbled sentences. Out of the given options pick one that gives their
correct order.
A. Today, man is master of the world and he makes the animals do what he likes.
B. Others he eats; and those like the lion and the tiger, he shoots for pleasure.
C. Early man, when he first came, must have been surrounded by many huge animals, and he must
have lived in fear of them.
D. Some he tames like the horse, the cow, the elephant, the dog, the cat and so many others.
(a) CADB
(b) CBDA
(c) ACBD
(d) BCDA
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Directions (11-20): Rz =i it earqas 92T s i % S92 3 & fow st e w1 === fifsmo

Q11. ‘T FT IITIATHAT M5 &7
(a) TERHAT

(b) gfEar

(c) =TA+T

(d) eroraT

Q12. ‘SIAT R H HI qT 99 g2
(a) TFa=T

(b) Tgar=T

(c) =i

(d) =% & FTE TH

Q13. AT T AT GIIT T AT | Tl T A g7
(a) gfave aqaT=

(b) ST AT

CEIEER: GEIE

(d) FTHT AT A

Q14. ‘qEUE H FIT 97 qHTH g7
(a) &

Q15. Raferfera arsi & & fa9ryor g1e% 8-

(a) Tr=4T

Q16. ‘GIEATT 58 | HIT €1 € §2
(a) 7T Hfer

(b) forent = fer

CERUEEIE]

(d) =St &t
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Q17. A ¥ ¥ a5 U< hiT AT E?
() 3ﬁ“3

(b) 2T

(c) T

(d) ZerT

Q18. ‘THRT 5T H AT T I GT WS 87
(a) STTTcaT== =1

(b) =fhaT= T3

(c) FEATF HT

CRIEEIEEREI

Q19. Rt & & =7 aut 8-
(a) X

(b) 1

©1

(d)s

Q20. ‘fAafg’ asx # T STA &2
(@) ﬁ

(b)

(OREES

(d) fAfx

Q21. Rwfrieaa & & #iv T Ta=aT-9d WA | ATITRAT & & § A AT e 47
(@)=

(b) ST

(c) %=

(d) eIt

Q22. T # Mt @™l # &, Ua qaTTiera gr<r s o = o
B EUEEEIEIES

(b) FerreeT

(c) gt

(d) e

Q23. STTSrhfea eI I T9 Ut & ST 7 1 AT it S oA areft a9} 6l 47T ATH 872
() Tef &=

(b) T gATY

(c) Tzt gam

(d) Tferet ey

—
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Q24 7 & O O ATEY AT i FgfRn Fver A & iy TS o7
(a) 1912
(b) 1915
(c) 1910
(d) 1918

Q25. AT HfereT it fr sIqg=T & T * ST I §6S I il A qT § G &q Traemg?
(a) T ST

(b) el srget

(c) =reft st

(d) ZEET AT

Q26. ¥ & & FiwaT T At 72
(a) MO : a5+t

(b) M1 : &It /AT

(c) M2 : M1 + & 3T e

(d) ST § T AT ARl

Q27.3g A &Y AT § orea smer F srpyrewr wahar v wrfo
(a)Elﬁﬁ'—er

(b) E&TET

(c)ﬁaﬁ-rr

(d) T

Q28. ST @S g T AT gIRIT?
(a) = 21 & TE E

(b) T 3T I gl a9d &

(c) Tk fATor &/ g ST

(d) THETT @ ST

Q29. e deT 7 fer s 02 e T &2
(a) ATEATEUH AZHATATE

(b) STEAEET FEAR

OEEEECELRS]

(d) STESATETHAT dTL®

Q30. A (g qY TF L T T TST § o {oI¢ qATL 8?7
(a) 2022
(b) 2024
(c) 2025
(d) 2030
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Direction (31-32): Raferfeaa wr ®, Ru 7w Reedi # 9 "@=faT g &1 999 fifvre

Q31.3T: 3F 2217
(a) =TT Aftaes
(b) Tt a7
CRIEIHGIE]

(d) wf&fs: ehfasw

Q32. FaT: YaT 1 ?:?
(a) =H=T: AT

(b) BA: ST

(c) TRTHTHT: IAH1
(d) g9 22

Direction (33-34): Ruffad w1 &, R T Rwedi §  gefaa st 1 99+ hifog)

Q33.SOAP: ASOP::CLAY:?
(a) ACLY
(b) LCYA
(c) LYCA
(d) ACLY

(a) GIL : KMG
(b) HOT : LKG
(c) MAN : PAM
(d)TDM : XGL

Direction (35-36): Rufrfaa wr ®, Ry v Qe § & gefaa e 1 93+ fifvg

Q35.32:99::83:?
(a) 216
(b) 252
(c) 242
(d) 224

(a) 79 : 98
(b) 34 : 43
(c) 24:43
(d)56: 67

—
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Direction (37-38): Raferfea wr #, Ru v Reeat d @ Ruw a2 1 93+ fifvrm

Q37.
(a) faeett
(b) F=RTE
(c) T=TE
(d) ZFRTA

Q38.
(a) =Tt
(b) #=
(c) e
(d) e

Direction (39-40): Rurfifad wr &, T T Rweqi § & fAuw e &1 99+ v

Q39.
(a) EHKN
(b) ILOQ
(c) XADG
(d) JMPS

Q40. R=fifEa v ¥, Ru 1w et & RAww sterd =1 93w fifvrg
(a) RVIE

(b) PWKD

(c) STHF

(d) YOBL

Q41. Rwfafea wr ®, Ry v Rweat § & vy de1r &1 93+ fifsg
(a) 17
(b) 51
(c) 23
(d) 29

Q42. FefeifeEa wrr #, fag 1w fawedt & & fAww g1t 70 =1 99+ S,
(a) 15 - 3150

(b) 14 - 2548

(c) 8 - 446

(d) 9 - 648
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Direction (43-44): {37 T ers1 & SHISH AT F ATATE SATRIT HforQ)

Q43.

1. Manager

2. Management
3. Manner

4. Major

5. Master

(a) 42135

(b) 41235

(c) 43512

(d) 42315

Q44.

1. Deal

2. Dear

3. Deaf
4.Dome
5. Dracula
(a) 31245
(b) 32145
(c) 31452
(d)31254

Q45. MHfifEd wr #, FT AT st&r #1 F9g AT 1Y ste e § RF & o F8% €7 9 W@ W Ig 9T
H?

d_de cd fbdf

(a) cbeaceg

(b) bceacbe

(c) cebaceg
(d) cbeabee

Q46. MEfE@ H ¥ AT AT TT 87
1. 181 T FATST HEAT Bl
I. -8 3T 20 FT LCM -40 &
1. 41634 T T2 & 9 & fawrs7 gl
(a) Fa I
(b) & 1 3% 111
(c) A<t 11 &< 111
(d) THT sTfregrs g 8
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Q47.3/7,Y75, Y750 & & =4 AT Afdwaw &2
@)V7

(b)V75

(©)V750

(d) All are equal

Q48.7fx 2 = 2=
(@) 3
(b) 2

(©)4/3
() 7/3

& A 22 o AT T 82

<
5

Q49. Tt 120 TTFAF H&IATAT T THT AT &2
(a) 7200
(b) 6260
(c) 7260
(d) 7300

Q50. T ST ST FT 20% FISTT TX, 50% ATerFi ¥ FArem 72 sh A F7 162% 5 F P < @ awa &,

I T T FT fohaeT gl ST 49 @ar 87
(a) 20
(b) 30
(c) 35
(d) 25

Q51. 16 e g¥ i T & AT § 65%3H §, 9 A= & 80% [& 9 & forg so# FovaeiT gor =
ST ATRY?

(a) 10 =fiex

(b) 8 #fex

(c) 9 #fex

(d) 12 <fiex

575%x575%x575+425x425x425 ﬁ a
Qs2. 57.5x57.5+42.5x42.5-57.5x42.5 A %‘)

(a) 100

(b) 10,000
(c) 1,000
(d) 1,00,000
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Q53.93 + [ 22+ {42 — (22 +2)}| e e &2
(@) 3
(b) 15/4

(c)4
(d)17/4

Q54.afR x + - = 6, T x3 + — Frer AT §7
(a) 210
(b) 234
(c) 198
(d) 216

Q55. af? 1+% = 1+ 2 A1 x formrs aarae 82
(@1
(b) 4

(c)2
(d)3

Q56. ST AT A THE T TATH S TS, THAT AT ITACHISE | ¢aee o 949 Fd &, AT _____ & T q Tahe
g8l

(a) =T TET®

(b) Fr foa

(c) e foa

(d) == =g

Q57. BRI M daal g e A e T gaig v __ s Wiy T smar 81
(a) TTEe

(b) L= &

(CERREUESAL]

(d) TS/ AT

Q58. A% & & F:1 |71 U wHUH fA<t # siafHiga aiwead< syt Agt
a2

(a) U=

(b) F=T =

(c) o= Sivdex

(d) THTH S
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Q59. T TH12 &I G gl
(a) T TS STAANT Tt

(b) 3T STIANT T

(c) | STAANRT Tt

(d) FAIST SHANT Tl

Q60. TRARITAATH AT A SIS R AT ST H i AT Srar &)
(a) SATET &

(b) A1 A

(c) AT &

(d) ST Zae

Q61. FIwcit g F SITaTT AT WraTS, AT AT FLAT 74T FgATaT 82
(a) sTeH-Trfey

DEREIEERI

(c) AT SATERAT

(d) =-FafF=a=

Q62. THEAT HTHTH # HE & oy gad« S F=1 Y T Freareff & &7 & wqaaar & fAwa g it stqafa <ar

B ERCIREEIGEIR
(b) W=

(c) THfiaeer =T &7 &1
(d) strew fAger

Q63. =9 e # frers ag &1 @z & forg wrfas arara<or & a9 it 3@aT g, IHF AAGI Hl (IS FAT 5
I I F9TT TEaT g

(a) TFET &het

(b) SUTEATH

CELESEL

(G EIRUNE?

Q64. TaST fALFT IS __ qh SR[AT T SITaAT &
(a) 199

(b) 6 FET

(c) 2aT

(d) 33T
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Q65. FTFEhT FIT AT ATAR I THE SATHT g

(a) ==t 7 Uar AT d=Te ST a9t 797 ATuTelil AR EAT

(b) R =1 v A e ST adft agi wan gar g

(c) R =1 wa AT e ST o+t a19e 9T W AN grar g

(d) v fa=wfora A ST g o |t sriorT 67 qrorsti e AN grar g

Q66. fr TaT qx ATHTIE Tfagar it wiFaT E et 3l
(a) I=9T

(b) FIEFAT

(c) FReTTaeT

(d) Fr=r

Q67. THAT FT F T T 7 Teh ITS I: ATETH 3 forg Sa= & adrervr Fovw s 1 AT =i gl
(a) 100

(b) 25

(c) 50

(d)0

Q68. g ST ___ arex gt Y 72T ¥ fore S=asT it ST a1t aheiioh gl
BEIRLEECEI

(b) TS qTeHT

(EEMEIREL

(d) 3e7 FTear

Q69. 'ATTES" & Ho 3T &

(a) BTT T TSI T ITAT FLA o 1T FgdT

(b) T o AT AT FTAT THEATAT hT TZATT HLA o oI

() AT TEETH o aTL H FTAAT o S 19 STRT&FHAT T&T FLA o [0

(d) T T STOT THE FATT H HEE FA o o0 qT1h Seg waa s =9 9 i o9 & 9eqw a9mar 91 9+

Q70. 9 ATIF YATHT |, ATIF AuTaea & | frdr e &
AT T Hohel <dT gl

(a) HATATHF

(b) ATATHF

(c) AARTATHF

(@)C A

(b) A, B, 3T C

(c)AB

(d)B,C

—
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Q71. Tfergia & e fAearax ___ ¥ qLa I1< At grav gl
(a) TETF 6 o

(b) Hraw = 31 fa=

(c) HFraa = 20 fo=e

(d) FreaF2 fem

Q72. =xfxr #1 fasra Mmferfera & siasdsrsn e AT Faar g:
A. |

B. HATHTHS

C. ATAATHH

(@)C A

(b) A, B, 3T C

(A B

(d)B,C

Q73. 30 T it TFE=usi & srfsrdreurrsyt =t Rty sifaes Qar {1
(a) et

OEELSIEED

(CERIEERED

(d) satEw

Q74. T2rear w1 Af&=FT SAfAaw, 2009 F ATH, THH ATTFR & H @A a1 14 99 6T (Y TF & G &
AT T @@ T HAA gl

(@) TATHTT TTFEFTOT

(b) B AT

ORERREIEICEIR

(d) fSre forear srferrmr

Q75. R=friea & & T T 10 a9 i TEH il TAAAT & ATS(het qATH | HEE HLaT gl
(a) HTEAT 3T Fea<aT

(b) TATLY, THCaEHdAT 3 H =T

(c) FrE=T ST afeaaan

(d) TFaERaT ST qeud

Q76. T&F i | fHA-fora AT T ATt ART W 81 garasht farar Aifa & srgame sa w9 # fFa R F
T A A Y ST S A qFHAT 7

(a) it = T ua | =

(b) TEHT ATA ATAT ATITSAT 6 HTEAH ATAT U el

(c) T ATHT & ST T AAT Tl

(d) ST ATHT o {70 SIqATT ATl U Uahed T
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Q77. DAT T U &7 4T &7

(a) Differential Ability Test

(b) Differential Attitude Test

(c) Differential Achievement Test
(d) Differential Aptitude Test

Q78. NCF 2005 ¥F SqHT {7 T STIRT FLAT AR

(a) T T AT9T H o faa g2 e

(b) FE T TST TLHTT FILT THITAT U (50 o forg v qreaqeas
() ek ooy o for weher qrser e

(d) = forerr 3 fer ¢ qrergedsh

Q79. ST FIE YT S[@ AT AT & AT g M ATAT-FAaT F I T wfafaar 3 &, A S¥ qar Forar ¢ & arar-
farar St asft STt &1 g w30 A oA, 9g | Fafieg § 9 o R ar e arsmarg)

(a) Tt

(b) TE=TT

(c) FErsam

(d) F=TIIET

Q80. farerwr F Hey § FaAfriea # & w= 95t 751 gl
(a) =F=

(b) AT FTAT

(G USED

(d) e

SOLUTIONS

S1. Ans.(d)
Sol. The children itself is a plural subject hence we do not need an ‘s” or ‘es” to make it plural.

S2. Ans.(d)

Sol. Intricacy: details, especially of an involved or perplexing subject.

Poverty: the state of being inferior in quality or insufficient in amount; dearth; scarcity.

‘Poverty’ is the most appropriate choice as it is synonym to “dearth” and the two clauses used in the
sentence imply towards the usage of two nouns similar in meaning.

S3. Ans.(d)
Sol. Late in the day: at a late stage in proceedings, especially too late to be useful.
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S4. Ans.(d)
Sol. ‘Do’ is the correct helping verb to use with first person pronoun (I and we) in first type of

conditional sentence.
S5. Ans.(c)
S6. Ans.(c)

S7. Ans.(c)
Sol. Chronic: (of an illness) persisting for a long time or constantly recurring,.
Infrequent: not occurring often; rare.

S8. Ans.(a)
Sol. Draw a blank: elicit no successful response; fail.

S9. Ans.(c)
Sol. For plural subjects, plural verbs are used.
Hence use ‘have’ in place of ‘has’.

S10. Ans.(a)

S11. Ans.(d)
Sol. T FT TATTATHAT 168 ‘AART gl T * AT TATIATHT oI5 8- T, I, Toret, Her, artasy, i, [y,
BT, Framady, srET, &<

S12. Ans.(a)
Sol. ‘AT 9T5% H UFHa=A 2l

S13. Ans.(a)
Sol. "HTET | AIEAT ST 6 ATHT | Hiae aqHT HTA gl

S14. Ans.(a)
Sol. ‘Taug # a7 7919 &

S15. Ans.(a)

Sol. ‘Ti=rat’ T e ez 3|
S16. Ans.(d)

Sol. ‘HETATY oTe% | =S | g
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S17. Ans.(b)
Sol. ‘BT TF TG 953 gl AT AT THH 253 Bl

S18. Ans.(b)
Sol. ‘THET 9Te% § ARRATHF GAT B

S19. Ans.(c)
Sol. ‘T FqeT AT &

S20. Ans.(c):
Sol. ‘[Mate’ ez # ‘Y IwEd g1 ‘Y ST&Rt &1 o1 srora, faA1, aree, MUy g, T8+ I8 8- My,
s, ATy, [

S21. Ans.(c)

Sol. The French were the last to come to trade in India. The French East India Company was a
commercial Imperial enterprise, founded in 1664 to compete with the English (later British) and
Dutch East India companies in the East Indies.

S22. Ans.(c)

Sol. In 1579-80 Emperor Akbar gave permission to a Protuguese captain Pedro Tavares to establish a
city anywhere in Bengal province. They normally chose the Hoogly and thus Hoogly became the first
European (Protuguese) settlement in Bengal.

S23. Ans.(c)
Sol. Westerlies blow in the middle latitudes between 30 and 60 degrees latitude, and originate from
the high pressure area in the horse latitudes towards the poles.

S24. Ans.(a)
Sol. Islington Commission, 1912 a Royal Commission formed to recommend reforms in the Public
Service of British India with Lord Islington as its chairman.

S25. Ans.(d)

Sol. The 10th Schedule to the Constitution, popularly referred to as the ‘Anti-Defection Law,' was
inserted by the 52nd Amendment in 1985 which has provisions relating to disqualification of Member
of Parliament on the ground of defection.

S26. Ans.(a)
Sol. Narrow Money (M1), Reserve Money (M0), M2 = M1 + Post Office Savings.

S27. Ans.(d)
Sol. The transverse nature of light can be demonstrated through polarization.
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S28. Ans.(b)

Sol. The pancreas is a mixed gland which secretes digestive enzyme and the beta cells of islets of
Langerhans secrete insulin, alpha cells secrete glucagon, delta cells secrete somatostatin hormone. If
the pancreas is defective by any of the reason, then the formation of insulin and glucagon are affected

badly.

S29. Ans.(b)

Sol. The Startup Incubation and Innovation Centre of IIT Kanpur has launched Mission Bharat O2, a
45-day open challenge for manufacturing high-quality indigenous, rapidly scalable oxygen
generation units to help combat the emergency.

S$30. Ans.(b)
Sol. The State has planned to achieve the target of 'Har Ghar Jal' by 2024.

S31. Ans.(b)
Sol. Train travel on tracks. Similarly, Bullet travel through the gun barrel.

S32. Ans.(c)
Sol. Second works on first.

S33. Ans.(a)
So. SOAP
ASOP
CLAY
ACLY

S34. Ans.(d)
Sol.

FEY %X TDM X611

I +4 | | L| | +4] |
+3
-1 -1

S35. Ans.(b)
Sol.32x3+3=99
83X 3+ 3 =252

S$36. Ans.(b)
Sol. Interchange of digits.

S37. Ans.(d)
Sol. All are U&T’s except (d).
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S38. Ans.(b)
Sol. White is not present in “VIBGYOR’

S$39. Ans.(b)
Sol. +3 series, except (b)

S40. Ans.(c)
Sol. Pair of opposite letters except (c).

S41. Ans.(b)
Sol. 51 is not a prime number.

S42. Ans.(c)

Sol. 153 — 152 = 3150
143 — 142 = 2548

83 — 82 =448

93 — 92 = 648

S43. Ans.(a)
S44. Ans.(a)

S45. Ans.(a)
Sol. d/ cde/ bedef/abedefe

S46. Ans.(b)

Sol. LCM of two numbers can never be negative
LCM(a,b)= |a.b|/GCD(a,b)

So, statement II is wrong,.

S47. Ans.(b)
1 1 1
Sol. (7%)s, (75%)8,(750%)8

1
(75%)s is greatest among all.

S48. Ans.(a)

Sol. a =3k

b =4k

c =5k

a+b+c _ 3k+4k+5k _

3
b 4k

S49. Ans.(c)

120x121

Sol. Sum = — = 7260

s |


http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

S50. Ans.(d)
Sol.

100

S51. Ans.(d)
Sol.

65% 100%

N

80%

x4 x4

S52. Ans.(d)
Sol.

as+b®
aZ+b2-ab (a T b)

100 (575+425) = 100000

S53. Ans.(a)
Sol.

39|18 ,13
T4 [6 +12
=3

S54. Ans.(c)
Sol.

x+i=a,x3+x—13=(a3—3a)

+-=6x3+-=216-18=198
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S55. Ans.(a)
Sol.

S56. Ans.(a)
Sol. The mini toolbar is a small formatting toolbar that appears when a text is selected in one of the
Office suite applications. The toolbar is specifically used for formatting the selected text. It allows you
to set font type, size, color and style. It also helps in setting the alignment and indentation of the
selected text.

S57. Ans.(b)
Sol. The startup routine runs, when machine boots up is BOOT up.

S58. Ans.(d)
Sol. MS Word is not an in-built application of windows. However, it can be downloaded.

S59. Ans.(a)
Sol. The key F12 opens a SaveAs dialog box.

S60. Ans.(b)
Sol. The operation of combining two cells into a single cell in Excel is referred to as merge cells.

S61. Ans.(d)
Sol. Controlling one’s emotions, impulses according to the changing situations is known as self -
regulation

S62. Ans.(b)
Sol. Support for learning in problem solving which allows the student to grow in independence as a
learner is scaffolding

S63. Ans.(b)

Sol. An anecdotal record is a detailed descriptive narrative recorded after a specific behavior or
interaction occurs. Anecdotal records inform teachers as they plan learning experiences, provide
information to families, and give insights into identifying possible developmental delays.

S64. Ans.(c)
Sol. Weight of new born baby quadruples by 2 years
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S65. Ans.(c)
Sol. “Universal Grammar” as narrated by Chomsky is a built in storehouse of rules that apply to all
human languages

S66. Ans.(a)
Sol. Childhood

S67. Ans.(d)

Sol. The relearning score = 100 x (original trials minus relearning trials) divided by original trials

For example: If it took ten trials to learn the material originally and only four trials to relearn it, the
relearning score would equal 100 x (10-4) /10 = 60%

S68. Ans.(c)
Sol. Lip reading is a technique used to teach children with Hearing impairment

S69. Ans.(d)
Sol. The basic objective of ‘Guidance’ is to help students to make their own choices so as to enable
them to take decisions independently

S70. Ans.(b)
Sol. A, B, and C

S71. Ans.(c)
Sol. According to Ebbinghaus rate of forgetting is more immediately after 20 minutes of learning

S72. Ans.(b)
Sol. A, B, and C

S73. Ans.(d)
Sol. Intrinsic

S74. Ans.(a)
Sol. As per the Right to Education Act, 2009, maintenance of records of children upto the age of 14
years residing within its jurisdiction is the duty of Local Authority

S75. Ans.(b)
Sol. Readiness, maturation and learning

S76. Ans.(a)
Sol. A common school for all
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S77. Ans.(d)

Sol. The Differential Aptitude Tests (DAT) is a multiple aptitude
test battery designed to measure Grades 7-12 students' and some
adults' ability to learn or to succeed in selected areas.

S78. Ans.(d)
Sol. As per NCF 2005, the teacher should use multiple textbooks
for a subject

S79. Ans.(c)
Sol. Trust

S80. Ans.(b)
Sol. Enforcing
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